FUNCTIONAL ANALYSIS- TEACHER A. CESARONI

ExAM- JANAUARY 13, 2025- (90 MINUTES)

Exercise 1.

(1) Give the definition of absolutely continuous measure and of singular measure
(with respect to the Lebesgue measure in R).
(2) Consider the cumulative distribution function

F(x):{o z <0

2—e™® x>0

and let pp the Borel measure associated to this function. What is the singular
part of this measure? What is the density of the absolutely continuous part of
this measure?

Exercise 2.

Let H = M?*(Q2,P, F) the space of random variables with bounded second moment.
For G a o-algebra in § strictly contained in F, we define V = M?*(Q,P,G) the closed
subspace of H which contains G-measurable random variables with bounded second
moment.

(1) State the orthogonal projection theorem in a general Hilbert space H. Using
the notion of orthonormal basis, state the formula to compute the orthogonal
projection of a generic element h € H to a closed subspace V C H.

(2) Let G = {0,Q} and compute the orthogonal projection of a random variable
X € H in the closed subspace M?*(Q,P,G).

(3) Let A€ F,and G = {0,Q,A,Q\ A). Compute the orthogonal projection of a
random variable X € H in the closed subspace M?(Q, P, G).

Hint: the space M2(2,P,G) = {axa + b, with a,b € R}, where x4(w) is the
random variable which assumes values 1 for w € A and 0 elsewhere.

Exercise 3.

(1) Recall the definition of Fourier transform of a function f and its main properties.

(2) Let
)1 ze[—c
J(@) = {0 x € (—00,—c) U (¢, +0).

Compute the Fourier transform of f.



SKETCH OF SOLUTIONS

Solution 1.

2 Fis continuous in R\ 0. Moreover F'(z) = f(x) = € "X (0,400) and F' is constant
in x < 0. Therefore the singular part of up is given by dy and the absolutely
continuous part has density f(x).

Solution 2.

2 M?*(Q,P,G) is the space of constant random variables, so the projection of X
is given by E(X) since X — E(X) is orthogonal to all the constant random

variables.

3 M*(Q,P,G) is a 2 dimensional space generated by 1,x4. We orthonormalize
this basis, and obtain X; =1, Xy = \/EE:;E(QEQ:))Z]. Since E(xa) = P(A), we
obtain

xa — P(4)

X2 = .
VP(A)(1 - P(A)
So the projection of a random variable X is given by
E(Xxa) — E(X)P(A)
P(A)(1 - P(A))

E(X|G) = E(X1) + E(XXz)X; = E(X) + (x4 — P(A)).

Solution 3.

2 By definition,
c c c 2
f(z) = / f(y)e™dy :/ cosxydy+i/ sin zydy = 2/ cos zydy = {x sincz @ #0
R 0

c e 2c z =0.



